How to Read Your Rankem 
(Suggestions from Wayne Pike)
The Rankem program is designed to help you visualize your standings relative to other producers in the farm business management program. It can help you analyze the performance of your business from year to year. In addition, you can use it to help set benchmarks for your enterprises and goals for your business.

Here are some tips that you may find helpful when studying your Rankem report.

1. Notice which group you are comparing. The title at the top of the page tells you the enterprise (or whole farm) and the number of farms in the group. Most Rankem reports are regional, that is, they refer only to Riverland FBM participants. You may have a special Rankem report prepared by your instructor that may include statewide or specially sorted data.
2. Your farm results are listed in the left column. You should recognize these as coming right out of your analysis. Not all analysis numbers are included in Rankem as there is not enough room.

3. The “Group Median” column are calculated numbers that indicate the point where half of the farms in the group have numbers greater than this and half have numbers less than this. The median is useful because it reduces the impact of extremely large or small numbers that can influence an “average” or “mean”.

4. Your farm values fall within the shaded cells. The number actually printed in the shaded cell is the average of the group in that percentile with you. One-tenth of the total number of farms in the Rankem report fall into each percentile.

5. Not all percentile factors are of equal impact. For example, Seed Cost for Corn on Rented Land ranges from $56.31 in the 100th percentile up to $97.20 in the 10th percentile – a range of $40.89 per acre. Fertilizer costs range from $54.25 up to $187.86 – a range of $133.61. Therefore, generally speaking and all other things being equal, moving a percentile to the right in Fertilizer will save you more than a percentile move to the right in Seed costs.

6. However, not all percentiles are equal within any one factor. Percentiles on the low end (from the 10th to the 30th ) and on the high end (70th to the 100th) tend to have more difference between them than do the percentiles in the center (40th to the 60th). This is because there are always farms with numbers that are very low and some that are very high that “stretch” the lower and higher percentiles. Think of the “bell-shaped curve”. Most farms are actually fairly similar to one another so their numbers fall in the middle of the group. It is crowded there. Because each percentile has one-tenth of the farms in each, the divisions between the middle percentiles are much closer together than those out on the ends. It is fairly easy to move left or right when you are already in the center, but moving into or out of the top third or the bottom third takes some major changes.

7. Generally, having more shaded cells farther to the right is better than having more on the left side. Due to some programming faults, this is not universally true. This is noticeable in the Dairy enterprise Turnover Rate and Culling Percentage. You may find others in other enterprises that we are not aware of.

8. Zeroes are zeroes. It doesn’t matter which percentile your zero is in. 

9. Sometimes you are where you are in Rankem because of the size of business you operate. This is particularly noticeable in the whole farm financial section. Don’t take this too seriously. It is efficiency and profitability that you are after.

